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1 100kN/ Mm% 23 — — — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — - ~ — —|3m%&iBR D -~ — — —
ZFhLs 1.00 | 0.00 4.34 54.25 | #nst | 000 ~ 4.34|1.97 10.56 ZThsh 1.00|6.00 ~ 5.00 54.25 | =hbst | 5.00 ~ 6.00)| 1.97 10.56
2 100kN/ Mm% 23 — — — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — - ~ — —|3m%iBR D -~ — — —
ZFhLs 1.00 | 0.00 5.24 65.36 | #FnLs | 000 ~ 524|217 11.61 Zh s 1.00| 500 ~ 7.82 65.36 | TnLs | 500 ~ 782|217 11.61
3 100kN/m%#8Z% | 1.00 | 0.00 0.64 109.49 |3mE#EZBH| — ~ — — — | 100kN/m%#EZ% | 1.00 | 11.03 ~ 1287 | 109.49 |3m%E#BZ% - ~ — — —
ZFhLs 1.00 | 0.64 842 100.00 | #hust | 000 ~ 842235 12.60 ZThsh 1.00|6.00 ~ 1103 100.00 | =4t | 5,00 ~ 1287| 2.35 12.60
4 100kN/m%#8Z% | 1.00 | 0.00 3.22 1561.47 |3m%E#BZ 3| 000 ~ 049|329 17.63 | 100kN/mM%#BZ5 | 1.00 | 11.08 ~ 2845 151.47 |3mZEBZRB|25.00 ~ 2845 | 3.29 17.63
ZFhLs 1.00 | 3.22 11.00|  100.00 | ThLS | 049 ~ 11.00| 3.00 16.05 Thst 1.00|6.00 ~ 1108| 100.00| ThU5 |56.00 ~ 2500 3.00 16.05
5 100kN/m%#8Z% | 1.00 | 0.00 0.35 106,11 |3m&E#EZBH| — ~ — — — | 100kN/m%#8Z% | 1.00 | 11.55 ~ 1255 | 105.11 |3m%E#BZD -~ — — —
ZFhLs 1.00 | 0.35 813 100.00 | #Fhilst | 000 ~ 813|243 12.98 Zh st 1.00|6.00 ~ 1155 100.00| Fhs | 6,00 ~ 1255|243 12.98
6 100kN/m%#8Z% | 1.00 | 0.00 0.69 110.24 |3mE#EZBH| — ~ — — — | 100kN/m%#EZ % | 1.00 | 1350 ~ 16.09| 110.24 |3m%E#BZ3 -~ — — —
ZFhLs 1.00 | 0.69 847 100.00 | ThLs | 000 ~ 847|282 15.10 ZThsh 1.00|6.00 ~ 1350 100.00 | =nst | 5,00 ~ 1609 2.82 15.10
. 100kN/m%#8Z% | 1.00 | 0.00 2.14 133.26 |3m&E#EZBH| — ~ — — — | 100kN/m%#8% % | 1.00 | 10.91 ~ 19.03 133.26 |3m&#BZ 5% -~ — — —
ZFhLs 1.00 | 2.14 9.93 100.00 | #hlst | 000 ~ 993|253 13.556 Zh s 1.00|6.00 ~ 1091 100.00 | =4t | 5,00 ~ 19.03] 2.63 13.55
3 100kN/m%#8Z%| 1.00 | 0.00 3.16 150.47 |3m&EBZ 5| 000 ~ 061|338 1810 | 100kN/m%&#8z25 | 1.00 | 11.54 ~ 29.16| 150.47 |3m&EBZ 5| 2000 ~ 29.16 | 3.38 1810
ZFhLs 1.00 | 316 1095 100.00 | TS | 0.61 ~ 1095 3.00 16.05 Thst 1.00|6.00 ~ 1154 100.00 | =4t | 5,00 ~ 2000 3.00 16.05
9 100kN/m%#8Z% | 1.00 | 0.00 2.56 140.17 |3m&#BZ 5| 000 ~ 1.21]|387 20.72 | 100kN/m%i#BZ % | 1.00 | 14.91 ~ 34.74 140.17 |3m&EBZB| 2000 ~ 34.74| 3.87 20.72
ZFhLs 1.00 | 2.56 1054  100.00 | ThLS | 1.21 ~ 1034] 3.00 16.05 Thst 1.00|6.00 ~ 1491 100.00 | =4t | 5,00 ~ 2000 3.00 16.05
10 100kN/m%#8Z% | 1.00 | 0.00 3.88 164.32 |3m%E#BZB| 000 ~ 0.78| 3.48 18.62 | 100kN/mM%z#8z25 | 1.00 | 11.41 ~ 31.92| 154.32 |3m&E#BZ 5| 2500 ~ 31.92| 3.48 18.62
ZFhLs 1.00 | 3.38 11.17|  100.00 | TS | 0.78 ~ 11.17] 3.00 16.05 Th st 1.00|6.00 ~ 1141 100.00 | =4t | 5,00 ~ 2500 3.00 16.05
11 100kN/m%#8Z% | 1.00 | 0.00 3.06 148,73 |3m%E#BZD| 000 ~ 1.11|377 20.16 | 100kN/m%#8z2 5| 1.00 | 1367 ~ 3815| 14873 |3m&E#BZB| 2000 ~ 3815|377 20.16
ZFhLs 1.00 | 3.06 1085  100.00 | TRLS | 111 ~ 1085 | 3.00 16.05 Thst 1.00|6.00 ~ 1367 100.00| Th5 |56.00 ~ 20.00| 3.00 16.05
12 100kN/m%#8Z% | 1.00 | 0.00 2.30 135.79 |3m%E#BZD| 000 ~ 091 3.64 19.48 | 100kN/m%#825 | 1.00 | 1369 ~ 2668 135.79 |3mEHBZB| 2000 ~ 2668 5.64 19.48
ZFhLs 1.00 | 230 1008 100.00 | ThLS | 091 ~ 1008] 3.00 16.05 Th st 1.00|6.00 ~ 1369 100.00| Th5 |56.00 ~ 20.00| 3.00 16.05
13 100kN/ Mm% 23 — — — —|3mZEBZB| 000 ~ 025|324 17.36 | 100kN/m%#BZ % — - ~ — — |3mEBZB| 1500 ~ 1877 3.24 17.36
ZFhLs 1.00 | 0.00 6.90 87.40 | #hst | 025 ~ 690 3.00 16.05 Zh st 1.00 | 600 ~ 1877 87.40 | Th5 | 5.00 ~ 15.00| 3.00 16.05
14 100kN/m%#8Z% | 1.00 | 0.00 2.56 140.19 |3m&E#EZBH| — ~ — — — | 100kN/m%#8Z % | 1.00 | 10.84 ~ 21.61 140.19 |3m%&#BZ 5% - ~ — — —
ZFhLs 1.00 | 2.56 1055 100.00 | TRLS | 0.00 ~ 1035 2.87 156.35 Thst 1.00|6.00 ~ 1084 100.00 | =5t | 6,00 ~ 2161|287 15.35
15 100kN/m%#8Z% | 1.00 | 0.00 1.22 11841 |3m&E#EZBH| — ~ — — — | 100kN/m%#8Z% | 1.00 | 11.15 ~ 15.05| 11841 |3m%E#BZ3 - ~ — — —
Zh LS 1.00 | 1.22 9.00 100.00 | Fhidst | 000 ~ 9.00| 258 13.79 Zh s 1.00|5.00 ~ 1115 100.00| Zhs | 500 ~ 1505|258 13.79
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16 100kN/m%#8Z%| 1.00| 000 ~ 304 148,41 |3m%E#BZD| 000 ~ 043)| 325 17.40 | 100kN/m%z#825 | 1.00 | 1091 ~ 2599 14841 |3m&EBZ 5| 2500 ~ 2599 | 3.25 17.40
ZFhLs 100|304 ~ 1083 100.00| TN | 043 ~ 1083 3.00 16.05 Th st 1.00|6.00 ~ 1091 100.00 | =4t | 5,00 ~ 2500 3.00 16.05
17 100kN/m#%#8Z%| 1.00| 000 ~ 302 148,03 |3m%E#BZ 3| 000 ~ 097] 3.63 19.45 | 100kN/M%z#825 | 1.00 | 1243 ~ 30.77| 14803 |3m&E#BZ 5| 2000 ~ 30.77 | 3.63 19.45
ZFhLs 100|302 ~ 1080 | 100.00| Fns | 097 ~ 1080 | 3.00 16.05 Thst 1.00|6.00 ~ 1243 100.00 | =4t | 5,00 ~ 20.00| 3.00 16.05
18 100kN/m#%#8Z%| 1.00| 000 ~ 1.02 115,32 |3m&E#EZBH| — ~ — — — | 100kN/m%#8Z % | 1.00 | 10.82 ~ 1388 | 115.32 |3m%E#BZ% - ~ — — —
ZFhLs 100|102 ~ 880 100.00 | Thst | 0.00 ~ 880|231 12.37 ZThsh 1.00|6.00 ~ 1082 100.00| Ths | 600 ~ 1388|231 12.37
19 100kN/ Mm% 23 — - ~ — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — - ~ — —|3m%&iBR D - ~ — — —
ZFhLs 1.00| 000 ~ 743 94.89 | #hbis 000 ~ 745|238 12.72 Zhsh 1.00|6.00 ~ 1028 94.89 | ThA5 | 6,00 ~ 1028 2.38 12.72
20 100kN/ Mm% 23 — - ~ — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — - ~ — —|3m%&iBR D -~ — — —
ZFhLs 100|000 ~ 454 54.19 | #hlst | 000 ~ 454 1.98 10.57 Zh st 1.00|6.00 ~ 5.00 54.19 | ThS | 6.00 ~ 5600 1.98 10.57
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ Zhsh ~ ZThsh ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ Zhsh ~ Zh s ~ Th st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ Zhs ~ Zhst ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ Zhsh ~ ZThsh ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ Zhsh ~ Zh s ~ Th st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ ZThsh ~ Zhsh ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEHEZD ~
Zh s ~ Zhsh ~ Zh s ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEHEZD ~
Zh s ~ Zhsh ~ Zh st ~ Th st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ Zh s ~ Thsh ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEHEZD ~
Zh s ~ Zh s ~ Zh s ~ Zh st ~
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